 Whots the remainder when 2¢-
£3): 2(%4
; £(3)= 8%l
| (R=7 'FC‘D Sl S |

nainder when 2x2- 5x - 1 is divided by x - 3? |

Example 1: Use the remainder theorem to determine the remainder of the following division problems.
@ (p*+5p’-11p* -25p +29)+(p +6) ' 0) (3 —dxi-11x+6)+@e=1)

FEO)= (W) + SHT-ICE-250W) 129 £015) = 3(Ya)-H(a) =0l
F(-L)= -\ ¥ (1=2H=0 ;3

c) (y'-8y’+10y*+2y+4)+(y-2) d) (4v’+6v° -8v—12)+(2v-3)

£(2) = @'-g2)+ D tUNtY £(3)2) = 10.5) +6(-5) -B(1.5) '!‘Z.

.

{(@2=0 C(31)= R 3

Factor Theorem: If we calculate f(c) and it equals O, that means the remainder is.0, and (x

olynomial | . |
g y. Knowing thatf x - ¢ Is a factor is 'rhe same thing as knowing that ¢ is a roof (and vice versa).

« The factor *x - ¢ and the root “c” are the same fhing

Example 2: Determine whether each winomial is a factor of (x° +4x* + x—6)

| b) x+3
a) x+l1 o
B Ces -« (v S
?("\j:’ (-\3' A=t ) LT 27 A ‘ -
~N ._.?:':,.._ v R
lf £\ A ..'-‘;‘ -{"\‘ ";' ." . 2 -"r' '—\’-\ (‘-— 3) - O X * 3 \ 5 | a ﬁ g8 :.. L 4
4(-\3'; e L-’ NJ A 1WA . U L. : ]

Example 3: Consider ihe polynomial P(x) = x° + kx? + x + 6. Find the value of k so that x + 2 is a facior of P,
L

A e { ) - L) (21T \e) v
~g + 1k +4=20 ¥z | £ =0

! -

b 1 4 -
- -
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